
 
 
 
 
 

 
 
 
 
 
 
 

g]kfn ;/sf/ 
s[lif e"ld Joj:yf tyf ;xsf/L dGqfno 

  e"ld;'wf/ tyf Joj:yfkg ljefu 
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hUufsf] Go"gtd d"Nof+sg k'l:tsf 
cf=j=-2075÷76_ 

 
 
 
 
 
 

 
 

 



lg)f{o g+=1 
   cf=j=075.076 sf] nflu o; sfof{nosf] If]qflwsf/ leq kg]{ hUufx?sf] lnvt kfl/t ug{ y}nL c+s 
sfod ug]{ ljifodf cfjZos %nkmn ubf{ cfly{s jif{ 2075.076 sf] nflu k|:tfljt tklzn adf]lhdsf] 
kfgf 7 -;ft_ cg';f/sf] d"Nof+sg sfod ug]{ lg)f{o ul/Psf] % . pQm Go"gQd d"Nof+sg ldlt 2075.4.1 
ut]af^ nfu' x'g]% . 

l;=g+= ;fljs uf=lj=;=x?÷gu/kflnsf 

1= v*\sf eb|sfnL -xfn a'(flgns)& gu/kflnsf j*f g+=6 / 7_ 

  ljj/)f cf=j=-075.076_ sf nflu d'No k|lt ju{ld^/ 

  -s_ gf/fo)f:yfg hfg] lkr ;*s;+u 
hf]l*Psf] hUufx? 

50000.­  

-v_ ;xfos lkr ;*ssf hUufx? 31000.­  

-u_sRrL df]̂ /af^f] ePsf hUufx? 22000.­  

-#_ uf]/]̂ f] af^f] ePsf hUufx?  11000.­  

-ª_ af^f] gePsf hUufx? 6000.­  

v*\sf eb|sfnL ju{ v'n]sf]df 

-s_ æsÆ ju{ 33000.­  

-v_ ævÆ ju{ 28000.­  

-u_ æuÆ ju{ 24000.­  

-#_ æ#Æ ju{ 20000.­  

-ª_ æªÆ ju{ 16000.­  

-r_ ærÆ ju{ 9000.­  

2= ^f]vf r)*]Zj/L -;fljs uf=lj=;=sf ;Dk')f{ j*fx? _ 
xfn ^f]vf gu/kflnsf j*f g+= 2 

  ljj/)f cf=j=-075.076_ sf nflu d'No k|ltcfgf 

  s_ lkr ;*s;+u hf]l*Psf] 550000.­  

v_sRrL df]̂ /af^f] ePsf] 400000.­  

u_ uf]/]̂ f] af^f];+u hf]l*Psf]  180000.­  

#_ af^f] gePsf] 55000.­   



3= emf]/ dxf+sfn -;fljs uf=lj=;=sf ;Dk')f{ j*fx? _ xfn ^f]vf gu/kflnsf j*f g+= 1 

  ljj/)f cf=j=-075.076_ sf nflu d'No k|ltcfgf 

  s_ lkr ;*s;+u hf]l*Psf] 400000.­  

  v_sRrL df]̂ /af^f] ePsf] 220000.­  

  u_ uf]/]̂ f] af^f];+u hf]l*Psf]  110000.­  

  #_ af^f] gePsf] 40000.­  

4= wfkf;L -;fljs j*f g+=1 b]lv 9 ;Dd_ xfn ^f]vf gu/kflnsf j*f g+=4, 5, 6 / 7 -
xfn ;fljs nfu' e};s]sf] If]q ePsf] x'bf+ cfgfnfO{ ju{ ld^/df sfod ul/Psf] _ 

c= wfkf;L -;fljs j*f g+= 7, 8 / 9 sf ;Dk")f{ If]qx?_ 
 xfn ^f]vf gu/kflnsf j*f g+= 5 / 7 

  ljj/)f  cf=j=-075.076_ sf nflu d'No k|lt ju{ld^/ 

  -s_ «̂ofs l/ª/f]*;+u} hf]l*Psf hUufx?  100000.­  

  -v_ ;xfos lkr ;*ssf hUufx? 52000.­  

  -u_sRrL df]̂ /af^f] ePsf hUufx? 28000.­  

  -#_ uf]/]̂ f] af^f] ePsf hUufx? 13000.­  

  -ª_ af^f] gePsf hUufx? 6000.­  

  ju{ v'n]sf]       

  -s_ æsÆ ju{ 40000.­  

  -v_ ævÆ ju{ 36500.­  

  -u_ æuÆ ju{ 31000.­  

  -#_ æ#Æ ju{ 26500.­  

  -ª_ æªÆ ju{ 22000.­  

  -r_ ærÆ ju{ 18000.­  

 



cf= wfkf;L -;fljs uf=lj=;= j*f g+= 1, 2, 3, 4 ,5 / 6 ;Ddsf nflu_ 
 xfn ^f]vf gu/kflnsf j*f g+= 4, 5 / 6 

  ljj/)f cf=j=-075.076_ sf nflu d'No k|lt ju{ld^/ 

-s_ lkr ePsf d"n ;*s;+u hf]l*Psf 
hUufx? 

 
33000.­  

  -v_ leqL lkr ;*s;+u hf]l*Psf 
hUufx? 

26500.­  

  -u_ sRrL df]̂ /af^f] ePsf hUufx? 18000.­  

  -#_ uf]/]̂ f] af^f] ePsf hUufx?  13000.­  

  -ª_af^f] gePsf hUufx? 6000.­  

  ju{ v'n]sf]      

  -s_ æsÆ ju{ 31000.­  

  -v_ ævÆ ju{ 26500.­  

  -u_ æuÆ ju{ 22000.­  

  -#_ æ#Æ ju{ 18000.­  

  -ª_ æªÆ ju{ 13000.­  

  -r_ ærÆ ju{ 9500.­  

5= ;fljs uf=lj=;= ^f]vf ;/:jtL -xfn ^f]vf g=kf= 3_ 

  ljj/)f cf=j=-075.076_ sf nflu d'No k|lt ju{ld^/ 

c_ kSsL df]̂ / af^f] ePsf] k|lt 
ju{ld^/ 

20000.­  

cf_ sRrL df]̂ / af^f] ePsf] k|lt 
ju{ld^/ 

16000.­  
 

 O_ uf]/]^f] af^f] ePsf] k|lt ju{ld^/ 4500.­  
  O{_ af^f] gePsf] hUuf k|lt ju{ld^/ 2500.­  

  p_ æsÆ ju{ nflu 18000.­  

  pm_ ævÆ ju{ nflu 15000.­  

  P_ æuÆ ju{ nflu 9000.­  

  P}_ æ#Æ ju{ nflu 5000.­  

  
 

cf]_ æªÆ ju{ nflu 4000.­  

cf}_ ærÆ ju{ nflu 3000.­   

     



6= ;fª\nf -;fljs uf=lj=;=sf] j*f g+= 6s / 9 sf ;a}_  
xfn tf/s]Zj/ gu/kflnsf j*f g+= 1 

  ljj/)f cf=j=-075.076_ sf nflu d'No k|ltcfgf 

  s_ lkr ;*s;+u hf]l*Psf] 505000.­  

  v_sRrL df]̂ /af^f] ePsf] 230000.­  

  u_ uf]/]̂ f] af^f];+u hf]l*Psf]  85000.­  

  #_ af^f] gePsf] 55000.­  

  ;fª\nf j*f g+=5 sf ;a} j*fx? / j*f g+=6 sf] xsdf 6s jfx]s cGo ;a} j*fx? 

 ljj/)f cf=j=-075.076_ sf nflu d'No k|ltcfgf 
 s_ lkr ;*s;+u hf]l*Psf]  350000.­  

v_ sRrL df]̂ /af^f] ePsf] 200000.­  

u_ uf]/]̂ f] af^f];+u hf]l*Psf] 70000.­  

#_ af^f] gePsf]  40000.­  

  
;fª\nf -;fljs uf=lj=;= j*f g+= 5, 6 / 9 jfx]s cGo j*fx?sf] dfq_  

xfn tf/s]Zj/ gu/kflnsf g+= 1 

  ljj/)f cf=j=-075.076_ sf nflu d'No k|ltcfgf 

  s_ lkr ;*s;+u hf]l*Psf] 300000.­  

  v_ sRrL df]̂ /af^f] ePsf] 150000.­  

  u_ uf]/]̂ f] af^f];+u hf]l*Psf]  60000.­  

  #_ af^f] gePsf] 35000.­  

 
 
 
 

 
 

 



lg)f{o g+=2 
1= km'̂ 'ª / ;fª\nfsf] l;dfgfb]lv ;fª\nfsf] ljxfgLrf]s ;Ddsf d'n;*ssf bfof¤ afof¤sf hUuf k|ltcfgf 

?=800000.– 
2= ;kgflty{ bf]efg b]vL ;fª\nf x'b} ljxfgLrf]s ;Ddsf d'n ;*ssf bfof+ afof+sf hUUff k|ltcfgf 

?=725000.– 
3= ;/:jtL u|fG*L^fj/ b]lv u)f]zdlGb/ ;Ddsf] d'n ;*ssf] bfof¤ afof¤sf hUuf k|ltcfgf -31=79 j=ld=_ 

?=1050000.– 
4= ^f]vf u)f]zdlGb/ u]̂ b]lv dfn'ªrf]s ;Ddsf] d'n ;*ssf] bfof¤ afof¤sf hUuf k|ltcfgf ?=880000.– 
5= emf]/ dfn'ªrf]s b]lv l;dfrf}/ ;Ddsf] d'n ;*ssf] bfof+ afof+sf hUuf k|ltcfgf ?=725000.– 
6= ^f]vf u)f]z:yfg dlGb/ b]lv r)*]Zj/L dlGb/ ;Ddsf] bfof¤ afof¤sf hUuf k|ltcfgf ?=880000.– 
7= ^f]vf k~r]̂ f/ rf]sb]lv *Nv' x'b} eTs]sf] k'n ;Dd d'n ;*ssf] bfof¤ afof¤sf hUuf k|ltcfgf -31=79 

j=ld=_ ?=500000.– 
8= ^f]vf hfg] d]g af^f]sf] ljl;ufn rf]s b]lv xflQuf}*f hfg] lji)f'dlt k'n;Ddsf] d'n;*ssf] bfof¤ 

afof¤sf hUuf k|ltcfgf -31=79 j=ld=_ ?=530000.– 
9= ^f]vf ;/:jtL ;fOafaf rf]sb]lv r/fdfu{ ;Ddsf] d'n;*ssf] bfof¤ afof¤sf hUUff k|ltcfgf -31=79 

j=ld=_ ?=500000.–  
10= ^f]vf u]̂  -klZrd tkm{_ b]lv av')*f]n d'n ;*ssf] bfof+ jf+ofsf hUuf k|ltcfgf ?=600000.­  
11= ;kgflty{ vf]nf -kfgL \̂ofªsL÷:jf:y\orf}ls_ b]lv km}*f]n ;Ddsf d'n ;*ssf] bfof+ jf+ofsf hUuf 

k|ltcfgf -31=79 j=ld=_ ?=600000.­  
12= u|f)*Laf^ em'*f]n x'+b} e'tv]n rf}/ d'lgaf^ d]g ;*\sdf lg:sg] af^f]sf] bfof+ jf+ofsf hUufx? k|lt 

ju{ld^/ ?=25000.­  
13= dfly lg)f{o g+=2 sf] k|s/)fx? 1 b]lv 13 ;Ddsf hUufx?sf] d"Nof+sg;¤u c? ju{ / k|s/)fdf 

pNn]lvt hUufsf] d"Nof+sgdf km/s kg{ uPdf h'g a(L x'G% ;f] d"Nof+sgnfO{ g} sfod ul/g] % . 
;fy} xfn ;fljs nfu' e};s]sf If]qx?sf] xsdf elg cfgfnfO{ ?kfGt/)f ul/ ju{ ld^/df d"Nof+sg 
sfod ul/g]% .  

 
 
 

lg)f{o g+=3 
:yfgLo lgsfon] #/af^f] l;kmfl/z ubf{ o;} Go"gtd d"Nof+sg k'l:tsfsf] k|s/)f, cfwf/ / :ki^ dfkb)* v'Ng]u/L 
l;kmfl/z ug'{kg]{ % . 
 

lg)f{o g+=4 
klxn] sfod ePsf] Go"gtd d"Nof+sg eGbf s;}n] y}nL c+s sd u/fO{ lnvt kfl/t u/fPsf] s'/f kl% s'g} Joxf]/f n] 
k|dfl)ft x'g cfPdf gk'u /fh:j ;DalGwt JolQm ;+#;+:yf jf sDkgL hf];'s} ePklg dfnkf]t sfof{noaf^ dfnkf]t P]g 
2034 sf] bkmf 8v1 cg';f/ To:tf] #/hUuf /f]Ssf /fvL /fh:j c;'n pk/ ul/g] % . 
 

lg)f{o g+=5 
lnvtdf #/ gv'nfO{ lnvt kfl/t e};s]kl% #/ lyof] egL dfnkf]t sfof{nodf bfjL ug{ kfO{g] %}g . lnvtdf #/ 
n'sfO{ kfl/t u/]sf] kl% &x/]df ;DalGwt kIfaf^ kfl/t lnvtsf] y}nL c+sdf #/sf] d"Nof+sg hf]*L cfly{s P]gn] tf]s] 
adf]lhd /fh:j tyf #/sfod Pjd+ hl/jfgfsf] b:t'/ ;d]t c;'n pk/ ul/g]% . 
 

 
 
 

lg)f{o g+=6 

 



:yfgLo lgsfoaf^ k|fKt #/sf] d"Nof+sg jf #/af^f]sf] l;kmfl/z lnvt kfl/t x'g' cufj} s'g} ;"rgfaf^ l;kmfl/z 
unt % eGg] hfgsf/L k|fKt ePdf sfof{noaf^ cfjZos %fglagsf nflu lkmN* lg/LIf)f ;d]t u/L d"Nof+sg sfod 
ug{ ;lsg]% . 
 

lg)f{o g+=7 
:yfgLo lgsfoaf^ #/af^f]sf] l;kmfl/zdf h] n]lvP/ cfPsf] eP tfklg Ps cfk;df hf]l*P/ cfPsf] lsQf s'g} Ps} 
JolQmn] vl/b u/]df s'g} Ps lsQfdf af^f]n] %f]P jf af^f] eP cGo lsQf klg af^f]df hf]l*P ;/xsf] Go"gtd 
d"Nof+sg sfod ul/g]% . 
 

lg)f{o g+=8 
Pp^f d"n lsQfaf^ lsQfsf^ e} kfl/t x'g] lnvtx?df If]qkmnsf] cg'kftdf ;dfg y}nL d"No sfod ul/g]% . ;fy} 
lsQfsf^ eO{ afsL /xg] lsQf hUuf kl% kfl/t x'g cfPdf ;d]t klxnf] lnvtdf sfod ePsf] d"Nofsgsf] cfwf/df 
y}nLc+s sfod ug'{ kg]{ %, Go"gtd d"Nodf g# \̂g] u/L cl#Nnf] /lhi «̂]zg kfl/t ePsf] h'g;'s} lnvtx?sf] y}nL 
c+s;d]tnfO{ g} Go"gtd d"Nof+sg sfod ul/g]% . 
 

lg)f{o g+=9 
cfly{s P]gn] /fh:j %'^ lbg]u/L gLltut Joj:yf eP adf]lhd %'̂  bfjL ug]{ ;+#, ;+:yf jf JolQmn] cflwsfl/s 
lgsfoaf^ %'̂  kfpg] egL l;kmfl/; jf k|df)fkqx? k]z ug'{ kg]{% . 
 

lg)f{o g+=10 
Go"gtd d"Nof+sg nflu :yfgLo lgsfon] #/sf] d"Nofs+g / #/af^f]sf] l;kmfl/z ;DalGwt hUufwgLsf] xsdf dfq rfn' 
cf=j=leq 35 lbg;Dd dfGo /xg]% . 
 

lg)f{o g+=11 
:yfgLo lgsfoaf^ af^f] gePsf] jf uf]/]̂ f] af^f] egL l;kmfl/z ePsf] t/ lsQfsf^af^ lnvtdf k"gM af^f] sfod x'g 
uPsf] «̂]; gS;faf^ b]lvPdf sRrL df]̂ /af^f] jf ju{ æuÆ ;/xsf] Go"gtd d"Nof+sg sfod ul/g]% .\ 
 

lg)f{o g+=12 
k'gM gfkL e} xfn ;fljs nfu' ePsf ju{ cg';f/ Go"gtd d"Nof+sg sfod ul/Psf] :yfgsf] lnvtdf ju{ gv'n]sf] eP 
gfkL sfof{noaf^ ju{ v'nfO{ k]z u'g{kg]{% . ju{ æ#Æ, æªÆ, ærÆ df sRrL df]̂ /af^f] b]lvP æuÆ ju{ ;/xsf] 
d"Nof+sg sfod ul/g]% . dfly h'g;'s} s'/f n]lvPsf] eP tfklg ;fljs uf=lj=;=x?df ^f]vf ;/:jtL, v*\sf eb|sfnL 
/ wfkf;Lsf xsdfly ju{ / #/af^f]sf] l;kmfl/zdWo] h'g a(L x'g cfp+% ;f]xL d"No sfod ul/g]% . t/ ju{ 
v'n]sf]df af^f] gePsf] egL l;kmfl/z cfPdf af^f] gePsf] cg';f/ g} d"No sfod x'g]% . h'g;'s} ju{sf] hUufsf] 
uf]/]^f] af^f]sf] l;kmfl/z cfPdf æ#Æ ju{ ;/xsf] d"Nof+sg sfod ul/g] % . 
 

lg)f{o g+=13 
:yfgLo lgsfoaf^ #/af^f]sf] l;kmflz e} cfp+bf /fhs'nf], vx/] vf]nf, vf]N;L÷vf]N;f], klt{, ;/sf/L÷;fj{hlgs÷lghL 
af^f];+u hf]l*Psf] elg n]vL cfPdf sRrL df]̂ /af^f] jf æuÆ ju{ ;/xsf] / df]^/af^f] dfq pNn]v e} cfPdf kSsL 
df]̂ /af^f] ;/xsf] d"Nof+sg sfod ul/g]% . 

lg)f{o g+=14 
ut cf=j=074.075 sf] Go"gtd d"Nof+sg ;DaGwL s'g} k|s/)f o; cf=j=075.076 sf] Go"gtd d"Nof+sg %'̂  x'g 
uPsf] eP cf=j=074.075 sf] Go"gtd d"Nof+sgnfO{ g} cfwf/ dflgg]% . 
 

lg)f{o g+=15 
;fljs uf=lj=;= wfkf;L / v*\sf eb|sfnLsf xsdf xfn;fljs nfu' e};s]sf If]q ePsf x'+bf k|ltcfgf nfO{ ?kfGt/)f 
ul/ k|lt ju{ld^/sf b/n] d'Nof+sg sfod ug'{ kg]{ % . 

 
 
 
 

 



hUufsf] Go"gtd d"Nof+sg sfod ug{ to ul/Psf dfu{ lgb]{zs l;$fGtM 
 
s= Go"gtd d"Nof+sgnfO{ ;do ;fk]If u/fpg], 
v= g]kfn /fi «̂ a}+ssf] pkef]Qmf d'No ;'lrsf] c;/ / hUufsf] d'Nodf k|ltjlDjt u/fpg], 
u= hUuf sf/f]jf/df oyfy{ d'No sfod ug]{ cEof; a(\b} uPsf]n] o; k|j[ltnfO{ k|f]T;flxt ug]{, 
#= pkTosfsf] rqmky jflx/sf xfn sfod ePsf gu/kflnsf ;fljs uf=lj=;=x?df ePsf] lta| 
j:tL ljsf;sf] sf/)f hUufsf] dfudf ePsf] cgk]lIft j[l$n] d'Nodf b]lvPsf] k|efjnfO{ ;Djf]wg 
ug]{, 
ª_ sf&df)*f} lhNnfsf 6 j }̂ dfnkf]t sfof{non] k[ys k[ys ?kdf d"Nof+sg ubf{ ;Ldfgf If]qsf] 
Ps} &fp+sf] d'Nodf b]lvPsf] c:jfefljs cGt/ qmdzM sd ug]{, 
r_ rqmkysf] ljleGg efudf x'g] cfly{s ultljwL Pj+ ef}lts ;'ljwfsf] cfwf/df rqmkyn] ^f]Psf] 
efunfO{ leGg leGg ju{df ljefhg ug]{, 
%_ bL#{sfndf pkTosfsf l%d]sL lhNnfsf] Go'gtd d'Nof+sg ;d]t tfbfTDotf sfod ug]{ tkm{ kxn 
ug]{ . 
h_ g]kfn ;/sf/n] k'jf{wf/ lgdf{)f / ;fj{hlgs lxtsf] nflu ug]{ hUuf clwu|x)f / d'cfAhf Pj+ 
Ifltk'lt{ ljt/)f sfo{nfO{ ;xh / ljjfb /lxt agfpg] . 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 



Go'gtd d'Nof+sg lgwf{/)fsf cfwf/x?M 
 
1= hUuf;+u ;*s jf af^f] hf]l*P ghf]l*P / ;f] sf] k|sf/, hUufsf] k|of]hgsf] 
cj:yf, hUufsf] j:t'ut cjl:ytL, rfn' cfly{s jif{ sf/f]jf/ ePsf] ;f]xL If]qsf] 
vl/b ljqmL d'No . 
2= e"ld;'wf/ tyf Joj:yfkg ljefuaf^ ePsf kl/kq tyf ;f]xL ljefuaf^ k|sflzt 
Go'gtd d'Nof+sg ;DaGwL lgb]{lzsf cWoog . 
3= gu/kflnsf÷dxfgu/kflnsfaf^ k|fKt Go'gtd d'Nof+sg ;DaGwL ;'emfax? . 
4= sfof{noaf^ ul/Psf] :ynut cWoog . 
5= cf=j=074.075 df sfof{noaf^ kfl/t lnvtx?df pNn]lvt y}nL c+s . 
6= :yflgo lgsfo -j*f sfof{nox?_ af^ k|fKt d'Nofs+g ;DaGwL ;'emfax? . 
7= g]kfn n]vfk(L sfg"g Joj;foL Pzf]l;ozg af^ k|fKt ;'emfax? . 
8= ;/f]sf/ ;d'x -p=jf=;+#, a}+s/ P;f]l;o;gsf k|ltlgwL, g=kf=sf k|ltlgwL_ ;+usf] 
cGt{lqmof . 

 
;dfKt 

 

 


